CTEF

F170 20195 ERBAFERR—YHERFIERS

BE: ST ESHIRA (K)~58128 (H)
TE BARZESADILGEETERIE

ISR S ER KRB ES

<  BBRXE > 1 fi 35602 B

Si3E | STEE 10mS60 si s2 83 84 85 S6 BR_ | XO¥ &t

2 | 24 AT By 102.3 | 102.3 | 1056 | 103.1 | 102.6 | 1020 617.9

3 | 23 HCIRES 102.6 | 101.1 | 99.6 | 105.2 | 100.1 | 1031 611.7 1845.2
4 | 27 | ES=HE | 1027 [ 1019 [ 1021 | 103.3 | 102.6 | 103.0 615.6

SHEE | STEE 50m3 X 20 K1 K2 P1 P2 St S2 /R | X0 &5t

I | 26 SEALEY 95 95 98 100 97 91 576 24

I | 15 B @ 96 95 96 98 89 92 566 18 1715
o | 32 BB E5 99 94 98 96 94 92 573 18

< BEKRE > 2 35082 g

S| SE 10mS60 _ St S2 S3 s4 §5 S6 Ba | X0& &it

2 | 23 =R T8 101.7 [ 101.5 | 101.2 | 1040 [ 101.8 | 97.8  608.0

3 | 22 Bz = 1015 | 101.3 | 102.7 [ 102.1 | 102.0 | 102.3 611.9 1831.2
4 | 26 MiE EE 100.1 | 102.7 | 101.3 | 101.6 [ 102.9 | 1027 611.3

S8 | ST 50m3 x 20 K1 K2 P1 P2 St S2 BR | xo% &t

I | 18 INR EF 94 91 97 94 93 89 558 14

I | 13 3 BE 88 91 95 96 92 96 558 15 1677
I | 30 fHHF £X 98 95 95 91 89 93 561 12

< HREAXE > 3 fir 34878 m|

Si3E | STEE 10mS60 si S2 S3 sS4 85 S6 BR_ | XO¥ &5t

2 | 25 miE BB 102.7 | 102.3 | 1034 | 103.0 [ 1043 | 100.7 616.4

3 | 24 Ed S 101.7 | 983 | 998 | 989 [ 101.9 | 988 599.4 1819.8
4 | 28 A B 990 | 102.4 | 998 | 99.1 | 1025 | 101.2 604.0

B | SR 50m3 X 20 K1 K2 P1 P2 S1 S2 B | xo% &5t

I | 27 Hp E# 87 93 96 95 94 86 551 10

T | 16 ik S 92 93 95 97 91 86 554 13 1668
I | 33 HIE BB 91 96 96 97 92 91 563 15

<  FEEXE > 4 34658 &

StaE | SR | 10mS60 St S2 S3 S4 S5 S6 BR | X0 ot

2 | 21 S EEZ 99.2 [ 1015 | 101.8 [ 101.7 | 99.2 | 101.5 604.9

3 | 21 EL IR 952 | 983 | 974 | 996 [ 101.1 ] 101.2 592.8 1805.8
4 | 25 Rk Ex 101.9 | 989 | 993 [ 1024 | 102.3 | 103.3 608.1

SEE | SR 50m3 % 20 K1 K2 P1 P2 S1 S2 Bl XD 55

I |17 HMR s 89 91 97 98 85 90 550 14

o] 12 Ah K= 95 95 95 93 93 89 560 9 1660
o | 29 BA BE 92 91 91 98 91 87 550 16

< HFEXFE > 5 U 34344 RH

SHEE | SPRE | 10mS60 Si S2 S3 S4 85 S6 BR | XOK S5t

2 20 NERT 25 B 99.2 | 90.7 [102.6] 97.7 | 98.2 | 100.5 [ 588.9

3 19 = YF 98.4 | 97.9 1 101.9]101.9]100.5 | 103.2 [ 603. 8 1797.4
4 23 g F 98.4 | 100.0] 102.4] 100.4 ] 101.4 | 102.1 | 604. 7

S | SR 50m3 X 20 K1 K2 P1 P2 S1 S2 B | X0 &5t

i 16 Al F+ 87 91 95 97 90 90 550 8

I 11 mEH #kE 92 95 91 92 86 86 542 10 1637
I 28 ;T8 X 95 93 96 86 91 84 545 16




< HRXFE > 6 & 34258

S| HE 10mS60 St S2 S3 sS4 S5 S6 Ba | xo% &t
2 | 26 AH S5 98.6 | 101.6] 100.6 [ 95.9 | 99.7 | 100.9 [ 597.3

3 125 JAK z:’-?— 102.31102.2 [ 99.8 [ 102.7] 97.0 [ 99.7 | 603.7 1816.8
4 | 29 | =hfgEF | 102.6(104.0]103.5] 102.5(102.4]100.8 | 615.8

S | SIEE 50m3 X 20 K1 K2 P1 P2 S1 82 BR_| X0% &t
I | 28 | =MigEF 85 87 97 96 87 88 540 1

0| 17| #%H B 82 90 95 90 88 86 | 531 | 12 1609
I | 34 | fRDAE 88 90 98 96 81 85 538 11

< BEsSxKFE > 17 33880 1

518 | SHEE 10mS60 S1 s2 S8 s4 S5 S6 BE | X0O# &5t
2 | 27 MSEERES 95.6 | 99.8 [ 102. 1] 99.1 | 99.8 | 95.9 [592.3

3 | 27 tH % 98.4 | 97.7 | 97.2 | 97.4 | 96.6 | 100.5 | 587.8 1784.0
4 | 15 IR 97.7 1102.31 99.0 [ 102.8] 100.6 | 101.5 | 603.9

SiEE | S 50m3 X 20 K1 K2 P1 P2 St S2 BR_| X0 Bt
I |29 [ WX 5 89 87 89 90 76 92 523 8

0|18 | #E == 93 93 93 98 88 90 | 555 18 1604
I | 35 HEWD# 93 94 90 92 76 81 526 7

< HEgXxFE > 8 17420 &

B | SEE 10mS60 St S2 S3 S4 S5 S6 BE | X0O# T
2 | 17| FE&H#ME | 86.3 | 93.6 | 96.3 [ 95.9 [ 95.2 | 97.1 [ 564.4

2 | 32 Ei% HMm 98.3 1100.91100.3 [ 99.5 | 98.3 | 98.5 [ 595.8 1742.0
3 [ 17 NEEES 95.7 | 98.7 | 98.5 | 96.6 | 95.9 | 96.4 | 581.8

S | HE 50m3 X 40 Ki K2 K3 K4 P1 P2 BR | XO% =38
< ZEERXE > 9 i 17205 /&

5t | SHPE | 10mS60 s1 S2 s3 s4 S5 S6 B | X0#% &t
2 | 16 £F %= 91.0 [ 950 | 94.8 | 96.8 | 95.2 | 96.4 [ 570.1

3 16| AE B 0079529590953 928 | 99.7 |569.6 1720.5
4 |19 AR FEF 93.2 | 98.5 | 97.0 [ 95.0 [ 101. 1] 96.0 |580.8

SiEE | SHEE 50m3 X 40 K1 K2 K3 K4 P1 P2 BR | X0¥% &t
< EBEXE > 10 fir 17113 &
SEE | SIEE 10mS60 Si S2 S3 S4 85 S6 BR | XOH S5t
2 30 | fam®AF | 954 | 00.6 | 050 [ 02.0 | 04 7 | 86.7 | 565.2

3 129 SE Ef 92.4 1 91.9 [ 100.5[ 99.0 | 93.2 | 94.3 [571.3 1711.3
4 | 21 g %ﬁ 90.5 | 95.2 | 97.2 | 95.1 | 97.7 | 99.1 [514.8 _
SIEE | STEE 50m3 x 40 K1 K2 K3 K4 P1 P2 BR_| XOHK &5t
< BAFERXFE > 11 fu 16438 m
SiEE | SHEE 10mS60 s1 s2 s3 s4 S5 S6 Ba | XOK &t
2 |15 i #hx 87.1 | 88.9 | 87.4 | 93.2 | 90.6 | 941 [541.3

3 [ 31| %l #K [ 96.7 | 95.3 [ 93.6 | 93.0 | 93.5 | 88.2 | 560.3 1643.8
4 | 17 RE U# 87.9 1 91.3 | 93.6 | 93.2 | 87.5 [ 88.7 542 2
Si3E | STEE 50m3 X 40 K1 K2 K3 K4 P1 P2 BE | X0 &5t




< ZHIEXRE > 12 fif 16310 &

518 | 10mS60 S1 S2 s3 S4 S5 S6 BA | X0# A&t
2 31 | wilml Ime 97.2 1 94.0 ] 91.8 | 95.4 [ 95.3 | 99.8 | 573.5
3 | 30| #% M Rk | 88.8 | 89.4 [ 82.8 | 94.8 [ 90.9 | 91.1 [537.8 1631.0
4 | 18 BAX Tk 87.8 1 89.2 | 89.8 | 85.0 [ 84.0 | 83.9 [519.7 _
S| SE 50m3 X 40 Ki K2 K3 K4 P1 P2 BR | XO% aEt
< UEXFE > 13 fi1 16145 p5
S| SE 10mS60 St S2 S3 s4 $5 S6 BR | XOK Bt
2 | 19 N-EZiE 88.6 | 89.1 | 93.8 | 89.0 | 88.1 | 94 2 [542.8
3 | 28 Hep #Er DNS 1109.5
4 | 16 | SEAFHFHTF 92.8 | 93.5 | 93.0 [ 97.4 | 95.6 [ 94.4 [ 566.7
518 | SiEE [  50m3x40 K1 K2 K3 K4 P1 P2 AR | XOK &t
I | 15 He HF 79 83 87 89 84 83 505 4
o[ 10 ® BEHE DNS 505
I | 27 [ JI&g 7€ DNS
< Fiemprky > i } =
B | SEE _10mS60 St S2 S3 S4 S5 S6 BE | X0O# T
2 [ 29| ZAH =& DSQ
3 | 18 | fEEE@m=EF | 100.7 | 994 | 100.7 | 99.8 | 101.4 [ 100.3 602.3 DSQ
4 | 22 78 P 97.9 | 1015 | 102.3 | 1035 | 102.2 | 99.9 607.3
S| S 50m3 X 40 Ki K2 K3 K4 P1 P2 Ba | XO& aEt




